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1. Identify the correct decadal population growth in Himachal Pradeg},
to 2011, from the following : Sh from 200
af 2001 © 2011 OB REEMd URY H SEEEN ) aup
fy=foRaa § A ggarT BRI AL
(A)  14.6 percent (14.6 Ufaerd) (B)  12.9 percent (12.9 ufyor
(C)  10.9 percent (10.9 ufarerd) (D) 11.4 percent (114 H%w:f:

']"T

Which of the following place of Himachal Pradesh is not matched
‘ correc

with its district: rrectly

W#%@ﬁﬁ@%mﬁmﬁﬁ?—wwmmzﬁmm

gafera &l &

(A) Dhumt (i) -~ Kinnaur (f5=il)

(B) Bajaura @GRy - Kullu (Bec))

(C) Chauntra @dasn - Mandi (HS0)

(D) Nako (T . Lahaul -Spiti (STEId—¥dIf)

3. The Kalasar Lake is located in the district of Himachal Pradesh:

Wﬁﬂ%fﬂm%ﬁﬁmﬁ%ﬁﬂﬁﬁ?

(A) Kinnaur fP=iR) (B) Kullu ()
(C) Mandi (FS)) (D)  Lahaul -Spiti (e

4. Which of the following financial year received the lowest Revenue Receipts as

per Himachal Pradesh Budget, 2023-24:
faraTae yew @ duic d¥ 202324 & arER frfetd fed Ry ad #

o uTft B g’
ual) (2021—22 CIESICED)

(B) 2022-23 (Budget Estimates) (2022—23 qore &l )
o—p3 FaNfaa A
24 gt P1 ITFHT)

,___4

(A) 2021 -22(Act

(C) 2022-23 (Revised Estimates) (202

(D) 2023-24 (Budget Estimates) (2023—
2




Which of the following land revenue is proposed to be collected as per
Himachal Pradesh Budget, 2023-24:

fesrac wdw @ avte, af 202324 B AR e Y-XToTe U v
HT IFHE B

(A)  17.16 crore (17. 16 FRIS) (B)  20.35 crore (2035 HY1S)

(C)  21.60 crore (21.60 Eh_i)l?:') (D) 1938 crore (19.38 &IS)

Which of the following is correct about Himachal Pradesh?

fRomad wewr @ an § =faRag & w8 &2

(A)  The Swan River merges with the Sutlej in Una district.

L1 :léT(SwanRi.\-'er} &1 e Hdeful T8 H &1 fora # B B
(B)  The Baijnath Temple was constructed by two merchants.

9 B AfeR B Q1 @muiRar A gar
(C) Nirmand is a sub-Tehsil of Shimla district

frte Rmen el @1 e Su—aedia &

(D)  The Himachal Pradesh Territorial Council had 30 members in 1956.

a¥ 1956 ¥ fEHTIS WY 1 Territorial Council & 30 W& o
Which of the following is correct about the Anti-Hail Nets subsidy in Himachal
Pradesh upto 20217
ay 2021 d@ [eWHUS USY H 3Mei—ud Aed (Nets) Il FaRys!
(Subsidy) & ar # fy=fafad -1 98 87
(A) 80 percent (80 Wfcrer) (B) 65 percent (65 Wfarerd)

(C) 75 percent (75 gfrerd) (D) 90 percent (90 gferera

Identify the percentage of Himachal Pradesh population to the National

Population in Financial year 2020-2021:

fadrg ad 2020-21 # W SHAEE # RAGA USU @ o &
gforerd &1 ygar= dIffg:

(A)  0.75 percent (0.75 Wfcrerd) (B)  0.94 percent (0.94 WYz
(C)  0.57 percent (0.57 Wfcrere) (D)  0.82 percent (0.82 ufaerad)



10.

9. How many seats of Master of Medicine and Master of Surgery wer
. 5+ e

allf](-.

: A % T y ate

to Private Medical Colleges in Himachal Pradesh during the academ; ed
» ]|L- Seqc;

2022-237 ion

Sterfoie T 2022-23 @ aRE RHEE U2Y & AN Medic

al Colleges 2
frq wiee offw AR ol HIREY 3MH T B BTN 0 g
g ofi?

(A) 110 (B)y 92 (C) 85 (D) 107

(5] r}ﬂ'"

Which of the following district of Himachal Pradesh had the highest arri,, |
- al of

Tourists for the year 20227

a&zozzﬁf%mﬂama?ﬁmﬁﬁﬁaﬁmﬁaﬁﬁmﬁm%
TEa?

(A)  Bilaspur (f4eiTIYR) (B)  Kangra (®T7T3r)

(C)  Solan (GTei+) (D) Mandi (%3

Which of the following is not correct about the Wildlife Sanctuaries ip
Himachal Pradesh?
fRurae 92w # Wild Life Sanctuaries @ aR # fwfaRed - od
81 87
(A) The Great Himalayan National Park in district Kullu has been declared
as natural heritage by the UNESCO
P! 7 @] forel @ Great Himalayan National Park &1 Wigfas
TRIER "ifya fdar 2

(B) The Bandli Sanctuary is in district Mandi
Bandli Sanctuary ¥sl et | &

(C)  The Gamgul Siahbehi Sanctuary is in district Kangra
Gamgul Siahbehi Sanctuary $TTS] et d 8

(D)  The Kugti Sanctuary is in district Chamba
Kugti Sanctuary €T forer & 2
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12.

13.

14.

B R NS

Mic i 1 " nirts ~ . 1 " i i
Which of the following pamnting of Amrita Sher Gill was auctioned in 2023:

a4 2023 W g IR-Frer @ PrsfeiRad faer Frsre 4 e 547

(A)  The Story Teller (B)  Group of three girls

(C)  Hill Women (D) Girl with Pitcher

Identify from the following, which author of Himachal Pradesh is not matched
correctly with his book:

frfoean & 9 fRumaa v & 99 e @ veafie, 9@ avd wE

Author (c1w®) Book (q¥®)
(A)  Piyush Guleri - Chhaunte
(Mg e (Chhaunte)
(B) Nand Kumar - Gaddi Jan Jeevan
(= AW RECIENEEICE))
(C) Pt Bhavani Dutt Shastri - Lehran Dharan Ree
(4 " &< wreE) (cTB¥l &% )
(D) Narender Arun -- Aazad Deesan Re
(s 370 CIEICESIRY

Which of the following is the correct year of the coming into existence of
Himachal Pradesh State Forest Corporation (later on renamed as H.P. State
Forest Development Corporation Limited?

BATaE WX UST ad e (3¢ # Ramgd yeyr U9 a1 e R
fafie & w7 # A1) & ofaE d o @ FE-w Al o @
87

(A) 1971 (B) 1974 (€) 1977 (D) 1975

Identify the over-all Rank of Chamba (Himachal Pradesh) in District Good

Governance Index-2021 from the following :

District Good Governance Index-2021 % fewae uewr @ awr el & <ol
(rank) I TR ﬁfﬁ%‘ﬁqﬁ A9 fﬁiﬁﬂt{:
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16.

p

18.

1%

20.

(A)  Sixth (@D (B)  Fourth f;j‘Tm]

(C)  Seventh (H1Tam) (D) Third (Bt
L VY ‘f'll

Which of the following State of India has the largest forest cover in

area?
e e o \ -
ARG D FEISTET fba 0 &1 av-omaw 83 e 4 &7

(A)  Manipur (ARR) (B)  Nagaland (P

(C)  Madhya Pradesh (e 9?3'91} (D) Jharkhandfm}

[dentify from the following, the total number of women. who have won the
Rajasthan Assembly Elections held in November, 2023:
Wzozaﬁmwmﬁum—wzﬁngrim(sﬂ?ﬁwﬁmﬁ
I T = B e § 9 geem DR

(A) 20 B) 17 (C) 24 (D) 26

The Covid-19 Variant virus which has been confirmed in India, is named as -
Cm-id-iom‘fh?ma%ﬁﬁamﬁmﬁmﬁg&mgm?.mw
a1 2?2

(A) Covid-23 (B) Covid-1I (C) IN-II (D) IN-I

The Village of which following State of India, has been awarded one of the

best Tourism Villages by the United Nations World Tourism Organisation in

2023:
a9 2023 ¥ United Nations World Tourism Organization 9 f=ifafad 4 &
IRG & e IS8 @1 FI9 378 Thed U &1 qonl fear 87

(A) Maharashtra (HENTY) (B)  Gujarat (]9iRTd)
(C) Karnataka (F1CH) (D) Madhya Pradesh (&1 U221

Identify from the following, the correct venue and President of Indian National

Congress Session-1946:
“fega JuHa SR @ a9 1946 B WA @ UG Dbl HEl W @A
aener @ ygar fefalea 4 1 s
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21.

22.

23,

Venue (Y11 President (Heapey)

A) Meerut -~ Acharaya | B Kriplani
v RS 31177 o A4r BITATAT
(B) Ramgarh -- Maulana Abul Kalam Azad
e WA At Beary sqrr
©) Faizpur -- Jawharlal Nahru
HATYR SAATEAT AEw
(D) Bombay -- Dr. Rajendra Prasad
S SI. XTol7e udTE

What was India’s rank in Commonwealth Games 2022 medals Tally?

a§ 2022 @I HIHAdRT TRT B gEY (medals) ¥ YR &1 BrH—a7 vorr=
oqT?

(A)  Third (R (B)  Sixth (&2

(C)  Fourth (dTem) (D)  Fifth (df=am)

The Union Budget — 2023-24 has proposed for the continuation of 50-vear

interest free loan to State Governments for a period of :

JRT F9C-2023-24 H IS TRENT B 50 6T @A FRT SR A
Y d 3R SN WG BT Y19 2

(A)  One Year (Uh L dod) (B) Two Year (&1 997 d&)

(C)  Four Year (IR 997 GED) (D)  Five Year (9T9 @97 d&)

" e 2
Which of the following author is not matched correctly with his book*

%—wﬁﬁ%&@maﬁw%wﬁgﬁ%ﬂaﬁﬁ?

Author (1%®) Book (Y¥d®)
(A)  Bankim Chandra Chatterjee -- Rajmohan’s Wife
dfda g geoff
(B)  Shashi Tharoor = The Great Indian Novel
anasni
9If3r ervmv




24,

25.

26.

27.

(€Y Chetan Bhagat -- Half Girlfriend
ERERIE

(DY Vikram Scth - The Shadow Lines

Q@ Ao

Which of the following country’s writer has got the Booker Prize-20237

Frafafed & @ fsw 2 & dws & ad 2023 F1 g wrg frar 27

(A) England (g7Tele) (B)  New Zealand (<fwiiets)

(C) Ireland (IMRTS) (D)  Canada (TS

The country which destroyed all its stockpiles of Chemical Weapons in 2023

1S;

ay 2023 ¥ f59 39 A IR N e Al @ GUw ) e fhare
(A) USA (3. ©9. 1) (B) Russia (%9)

(C) China () (D) France (SAT)

Which of the following country is not matched correctly with its continent?

fPrfafad 3 & B9 <9 AT FETE B | Wel gAfad T8 0

(A) Estonia (vEfAaT) - Europe (J310)

(B)  Tunisia (Zg=rT) - Africa (31hiT)

(C)  Uruguay (3%99) - North America (It 3MR@T)
(D)  Samoa (FHI3 —  Oceania (3Rfaar)

Which of the following is correct about the percentage of the Declining Arctic

Sea Icc per decade?

srafes gz @ ufa 9 &fvr Bl 9% & ufded & av # et
P FEl 87
(A) 15.7 percent (15.7 ETf%f?I_FD (B) 11.5 percent (11.5 Qﬁ‘\‘l—d‘)

(C) 18.6 percent(18.6 yferard) (D) 16.9 percent (16.9 uferera)



8.

30.

31.

32.

33.

which of the fotlowing country is not matched correctly with its currency?

g & W DA QW I e @ wrer Wl yafer i @7

(A) Belgium (afosram) -~ Euro
(B) Brazil (ATSIeh) - Real
(€) Estonia (E@ﬁm) o Furo
(D) Hungary (BT -- Euro

Which of the following country is not included among the top 10 countries in
the list of the most peaceful countries, of Global Peace Index-2023?

Global Peace Index-2023 ¥ fifeifa fbw <o &t i 10 <ol & waw
sifafirn < @ gfu # wfeafera 78 fan man 22

(A) New Zealand (RJuiiets) B) Switzerland (Raewieets)
(C) Canada (®-TTSI) (D)  Singapore (FRFTTR)

Identify the country for whom the ASEAN members have agreed in principle

to admit in it, from the following :

3§ 29 3 AW 9 Frefafed § 9 gga $ioe "1 ASEAN & Hew
a7 A Rigd w9 9 Ot 9 @ fo wewd & Y 87

(A) East Timor (qdf fa#R) (B) India (8IRd)

(C)  Sri Lanka (#reia) (D) Mauritius (FIORR)

Tt wFa: e o # A &7

(A) B) FmEE () T (D) S
Trfafaa # a &l - o ae v e &1 3 7 &

(A) FEE  (B) I © @ O

orAarTiae # 9 e e, 1 o §-

(A)  ITEAT  (B) e ©) ¥ (D) A
9



34.

3s.

36.

37.

38.

39.

HE FesAlel THE AG ¢ | - @i o RIS T & Py s gy

(A)  Sfdaras (B) %%“T )
(C) Higdardsh (D) :{:NTE"‘TF:F
ﬁﬁmﬂﬁvﬁmﬁﬁm*wmmﬁ%@%
et & -

(A)  ¥gRE (B)  HES (©)  ITeR D S

gf3dwor e I & S -

(A)  TaRIwoT & F1e 9gFd €1 &
(B) TAH ¥ gd 9gFd @1 B
(©) fadwor $r fRFAwar sqd &
(D) R @ qd yged @ )

AGTH FAET 9g H GIFT FAH & GFR ¢ -

(A) FAURY (B)  3feuireng
(©) wgfe (D)  agE

qh e gRaT 3 & v 3w FEEw ¥ -

(A)  Hg IR (B) g FT @en
(C) HE H A o=l (D) Hg arpar

fATai@a & §3d a9y g9garav -
(A) dg.Sirer e amra & 1T, gaehr o g o)

(B) T Frell HF ST WA # W W &, AT HI gl
(C) Tl 3 oMY §3HT IR T 9T ae 317 e

(D) drdE F P YT tF @e-F 9 F ARy 3R ST ATl

10




40.

41

42.

43.

44.

..gfgmmlﬂﬂmﬂm%n@

ﬁﬁémﬂ@gméwu"-wm#m-mm%?

(A) Gt (B) <dw (©) I=fFg (D) wum

Choose the correct passive form of the following;

Does Romila attend classes regularly?

(A) Arethe classes being attended by Romila regularly?
(B)  Are the ciasses attended by Romila regularly?
(C) Do the classes attended by Romila regularly?

(D)  Classes are attended by Romila regularly,

Choose the correct indirect form of the following:

Everyday he says to me, “[ have to leave early”

(A)  Everyday he tell me that he has to leave early.
(B)  Everyday he tells me that he had to leave early.
(C)  Everyday he tells me that | have to leave early.

(D)  Everyday he tells me that he has to leave early.

Arrange the given parts to make a meaningful sentence.

B: tend to look dewn upon

Q.  the importance of the medium of

R.  one’s mother tongue cannot be ignored.
S. Although many people

T.  vernacular medium schools,

The correct sequence is:

(A) QRSTP (B) TPQSR
(C)  SPTQR (D)  QTPSR

Choose the right option to fill in the blanks.

Effective communication teachers and students is crucial

an effective learning experience.

(A)  with, on (B) in, of

(C)  for, than (D)  between, for

11




45.

46'

47.

48.

49.

50.

Choose the correct sentence: | i .
- son wihny pC(]p ¢ 1ignore the m 0Ort:
¢ any strong rea Portanc, of

(A) 1 don’t s¢

honesty.
cas jay igno ionif:
() We don’t se¢ any strong reason why Ajay ignore the significy,, of

honesty.

1 blend of honesty and hardwork are necessary.
x -

() |feel that
arents.

(D) You should listen your p

Choose the correct option 10 fill in the blank.
Krishna advised that we should ~thecircumstances,
(B) adaptourself with

(A) adapt ourselves (0
(D) adopt to

(C)  adept with

Choose the option which explains the underlined segment of the following

sentence:

| have been working for forty minutes on this puzzle, I'll just bld_()_”w_il_h_ﬂ

now.
(A) reject it (B) be fed up
(C)  finish it (D) take a short break

Choose an appropriate option to complete the conversation.

Tina: T don’'t know what to do with this gadget.

Jeenat:
(A)  Plltell to operate it. (B) Tl tell you how to operate it.
(C)  TI'lltell how does it operate. (D)  See, this is how do it operate.

Choose the correct question tag.

I’'m really good at making plans, ...
(A) aren't1? (B) amn't1? (C) isn'tthat? (D) don’t1?

Choose the correct option to fill in the blank.

Artificial intelligence allows us to steps in making the things easy.
(A) take proactive (B)  take prefer
(C)  having promptly (D)  deal in

12
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